AEROSONIC CORP /DE/ Form SC 13D/A January 06, 2009

# SECURITIES AND EXCHANGE COMMISSION Washington, D.C. 20549

#### SCHEDULE 13D

Under the Securities Exchange Act of 1934 (Amendment No. 1)\*

Aerosonic Corporation

(Name of Issuer)

Common Stock, \$0.40 par value

(Title of Class of Securities)

008015307

(CUSIP Number)

Daniel H. Abramowitz
Hillson Financial Management, Inc.
110 North Washington Street, Suite 401
Rockville, MD 20850
(301) 340-0003

(Name, Address and Telephone Number of Person Authorized to Receive Notices and Communications)

December 9, 2008

(Date of Event Which Requires Filing of this Statement)

If the filing person has previously filed a statement on Schedule 13G to report the acquisition that is the subject of this Schedule 13D, and is filing this schedule because of Rule 13d-1(e), Rule 13d-1(f) or Rule 13d-1(g), check the following box o.

Note. Schedules filed in paper format shall include a signed original and five copies of the schedule, including all exhibits. See Rule 13d-7 for other parties to whom copies are to be sent.

\* The remainder of this cover page shall be filled out for a reporting person's initial filing on this form with respect to the subject class of securities, and for any subsequent amendment containing information which would alter disclosures provided in a prior cover page.

The information required on the remainder of this cover page shall not be deemed to be "filed" for the purpose of Section 18 of the Securities Exchange Act of 1934 or otherwise subject to the liabilities of that section of the Act but shall be subject to all other provisions of the Act (however, see the Notes).

CUSIP No. 0080	15307	SCHEDU	JLE 13D	
I.R.S	ME OF REPORTING  S. IDENTIFICATION  Son Partners LP			
	ECK THE APPROPRI	ATE BO	(a) o (b) o	
	USE ONLY			
4 SOU WC	JRCE OF FUNDS			
5 CHE	5 CHECK BOX IF DISCLOSURE OF LEGAL PROCEEDINGS IS REQUIRED PURSUANT TO ITEM 2(d) or 2(e)			
6 CIT	IZENSHIP OR PLAC	E OF OR	GANIZATION	
Dela NUMBI SHAI BENEFIO OWNE EAO REPOR	RES CIALLY D BY CH	7	SOLE VOTING POWER	0
PERSON	WITH	8	SHARED VOTING POWER	146,928
		9	SOLE DISPOSITIVE POWER	0
		10	SHARED DISPOSITIVE POWER	146,928
11 AGO 146,		BENEFI	CIALLY OWNED BY EACH REPORTING PERSON	
12 CHE CER SHA	CHECK BOX IF THE AGGREGATE AMOUNT IN ROW (11) EXCLUDES CERTAIN SHARES			
13 PER 4.06		EPRESEN	TED BY AMOUNT IN ROW (11)	
	E OF REPORTING F	PERSON		

PN

<sup>\*</sup> Based on 3,623,143 shares of common stock outstanding

SCHEDULE 13D

1	NAME OF REPORT	ING PERSO	NS	
1	NAME OF REPORTING PERSONS I.R.S. IDENTIFICATION NOS. OF ABOVE PERSONS			
	Hillson Financial Ma			
2		•		(a) o
2	CHECK THE APPROPRIATE BOX IF A MEMBER OF A GROUP			(b)o
3	SEC USE ONLY			(0)0
3	SEC USE ONL I			
4	SOURCE OF FUND	C		
7	WC	S		
5		SCI OSTIDE (	OF LEGAL PROCEEDINGS IS REQUIRED	
3	PURSUANT TO ITE		or Legal i Roceedings is required	
	2(e)	2(u) 01		
	0			
6	CITIZENSHIP OR P	LACE OF O	RGANIZATION	
Ü	Maryland	Litel of o		
N	UMBER OF	7	SOLE VOTING POWER	0
1,	SHARES	•	SOLL FORMOTOWER	Ü
BF.	NEFICIALLY			
	OWNED BY			
	EACH			
R	REPORTING			
	ERSON WITH			
111	ACSON WIIII	8	SHARED VOTING POWER	146,928
		0	SHARLD VOTINGTOWER	140,720
		9	SOLE DISPOSITIVE POWER	0
		10	SHARED DISPOSITIVE POWER	146,928
				- ,-
11	AGGREGATE AMO	OUNT BENE	FICIALLY OWNED BY EACH REPORTING PERSON	
	146,928			
12	•	E AGGREGA	ATE AMOUNT IN ROW (11) EXCLUDES	
	CERTAIN		• •	
	SHARES			
	0			
13	PERCENT OF CLAS	SS REPRESE	ENTED BY AMOUNT IN ROW (11)	
	4.06%*			
14	TYPE OF REPORTI	NG PERSON	N	
	CO			

<sup>\*</sup> Based on 3,623,143 shares of common stock outstanding

CUSIP No. 008015307

SCHEDULE 13D

1	NAME OF REPORT	ING PERSO	NS	
1	NAME OF REPORTING PERSONS I.R.S. IDENTIFICATION NOS. OF ABOVE PERSONS			
	Hillson Investments		of the other end of the second	
2			OX IF A MEMBER OF A	(a) o
-	GROUP			(b) o
3	SEC USE ONLY			(0) 0
4	SOURCE OF FUND	S		
	WC			
5	CHECK BOX IF DIS	SCLOSURE (	OF LEGAL PROCEEDINGS IS REQUIRED	
	PURSUANT TO ITE	EM 2(d) or		
	2(e)			
	0			
6	CITIZENSHIP OR P	LACE OF O	RGANIZATION	
	Maryland	_		_
N	IUMBER OF	7	SOLE VOTING POWER	0
	SHARES			
	NEFICIALLY			
(	OWNED BY			
_	EACH			
	REPORTING			
PE	ERSON WITH	_		
		8	SHARED VOTING POWER	146,928
		9	SOLE DISPOSITIVE POWER	0
		10	SHARED DISPOSITIVE POWER	146,928
1.1	ACCRECATE AMO	NUMBERIE		
11	AGGREGATE AMOUNT BENEFICIALLY OWNED BY EACH REPORTING PERSON 146,928			
12	·	E AGGREG	ATE AMOUNT IN ROW (11) EXCLUDES	
12	CERTAIN	2 mooneo.	THE THIRD CIVIT IN THOSE (TT) ENCECEDED	
	SHARES			
	0			
13	PERCENT OF CLAS	SS REPRESE	ENTED BY AMOUNT IN ROW (11)	
	4.06%*			
14	TYPE OF REPORTI	NG PERSON	N	
	OO			

<sup>\*</sup> Based on 3,623,143 shares of common stock outstanding

CUSIP No. 008015307

SCHEDULE 13D

	1	NAME OF REPORT	TING PERSO	NS	
				OF ABOVE PERSONS	
	2	Daniel H. Abramowi CHECK THE APPR		OX IF A MEMBER OF A	(a) o
	_	GROUP	OTTE D		(b) o
	3	SEC USE ONLY			
	4	SOURCE OF FUND WC	os		
	5	· · · -		OF LEGAL PROCEEDINGS IS REQUIRED	
	6	o CITIZENSHIP OR F	PLACE OF OI	RGANIZATION	
	N.T.	USA	7	COLE VOTING POWER	0
	N	UMBER OF SHARES	7	SOLE VOTING POWER	0
	BEI	NEFICIALLY			
	C	OWNED BY			
	D	EACH EPORTING			
		RSON WITH			
			8	SHARED VOTING POWER	146,928
			9	SOLE DISPOSITIVE POWER	9,250
			10	SHARED DISPOSITIVE POWER	146,928
-	11	AGGREGATE AMO	OUNT BENEI	FICIALLY OWNED BY EACH REPORTING PERSON	
	12	· · · · · · · · · · · · · · · · · · ·	E AGGREGA	ATE AMOUNT IN ROW (11) EXCLUDES	
		CERTAIN			
		SHARES o			
	13	PERCENT OF CLASS REPRESENTED BY AMOUNT IN ROW (11)			
	14	4.31%* TYPE OF REPORTI	NC DEDSON		
-	14	IN REPORTS	INO FERSON		

<sup>\*</sup> Based on 3,623,143 shares of common stock outstanding

CUSIP No. 008015307

CUSIP No. 008015307

SCHEDULE 13D

This Amendment No. 1 relates to the Statement of Beneficial Ownership on Schedule 13D filed jointly by Hillson Partners LP, d/b/a Hillson Partners Limited Partnership ("Hillson"), a Delaware limited partnership, Hillson Financial Management, Inc. ("HFM"), a Maryland corporation, Hillson Investments LLC ("Investments"), a Maryland limited liability company, and Daniel H. Abramowitz ("Abramowitz") on March 23, 2006 (the "Schedule 13D").

Except as set forth below, all Items of the Schedule 13D remain unchanged. All capitalized terms not otherwise defined herein shall have the meanings ascribed to such terms in the Schedule 13D.

Item 5. Interest in Securities of the Issuer.

Item 5 of the Schedule 13D is hereby amended to add the following information for updating as of the date hereof:

As of the date hereof, Hillson, HFM and Investments may each be deemed to be the beneficial owner of 146,928 shares of Common Stock, or approximately 4.06% of the Common Stock outstanding, and also may be deemed to have shared power to vote or direct the vote of, and shared power to dispose or direct the disposition of, such shares (all of which shares are held directly by Hillson).

As of the date hereof, Abramowitz may be deemed to be the beneficial owner of 156,178 shares of Common Stock, or approximately 4.31% of the Common Stock outstanding, and also may be deemed to have shared power to vote or direct the vote of 146,928 of such shares, and to have sole power to dispose or direct the disposition of 9,250 of such shares. This number consists of 146,928 shares held directly by Hillson and 9,250 shares held directly by a trust (the "Trust") with respect to which Abramowitz has sole power to dispose or direct the disposition of securities owned by it.

Except as described in the preceding two paragraphs, the filing of this statement by HFM, Investments and Abramowitz shall not be construed as an admission that any of such parties is, for the purpose of Section 13(d) or 13(g) of the Exchange Act, the beneficial owner of any of the shares of Common Stock described in this statement.

All of the percentages calculated in this statement are based upon an aggregate of 3,623,143 shares of Common Stock outstanding as of December 15, 2008, as set forth in the Form 10-Q filed by the Issuer with respect to the quarterly period ended October 31, 2008.

Schedule A annexed hereto lists all transactions in the Issuer's securities in the last 60 days. Except for the transactions described on Schedule A, which information is incorporated herein by reference, there have been no other transactions in the securities of the Issuer by the Reporting Persons in the last 60 days.

Each of Hilson, HFM, Investments and Abramowitz ceased to be the beneficial owner of more than 5% of the Common Stock outstanding on December 26, 2008.

CUSIP No. 008015307

## SCHEDULE 13D

## **SIGNATURE**

After reasonable inquiry and to the best of my knowledge and belief, I certify that the information set forth in this statement is true, complete and correct.

January 5, 2009

## HILLSON PARTNERS LP

By: Hillson Financial Management, Inc.

Its: General Partner

By: /s/ Daniel H. Abramowitz Name: Daniel H. Abramowitz

Title: President

## HILLSON FINANCIAL MANAGEMENT, INC.

By: /s/ Daniel H. Abramowitz Name: Daniel H. Abramowitz

Title: President

## HILLSON INVESTMENTS LLC

By: /s/ Daniel H. Abramowitz Name: Daniel H. Abramowitz

Title: Member

/s/ Daniel H. Abramowitz DANIEL H. ABRAMOWITZ

## SCHEDULE A

This schedule sets forth information with respect to each purchase and sale of Common Stock which was effectuated by a Reporting Person within the last 60 days. All transactions were effectuated in the open market through a broker.

Sale of Shares effected by Hillson

Date	Number of Shares Sold	Price Per Share(\$)	Aggregate Price(\$)(1)
12/1/2008	150	0.62	93
12/1/2008	300	0.613	184
12/1/2008	7,650	0.618	4,729
12/2/2008	12,500	0.589	7,366
12/3/2008	5,000	0.504	2,520
12/5/2008	652	0.488	318
12/9/2008	10,000	0.485	4,847
12/10/2008	7,500	0.488	3,660
12/12/2008	2,100	0.707	1,848
12/16/2008	1,300	0.511	664
12/17/2008	4,000	0.485	1,940
12/18/2008	4,200	0.491	2,061
12/26/2008	17,100	0.519	8,877
12/26/2008	14,000	0.604	8,462
12/30/2008	29,000	0.627	18,183

<sup>(1)</sup> Includes commissions and other execution-related costs.